4]

x °] gk
olct.

=1
Sh=

@ Ao] ol =HA

-
=

@ ax®+bx+c=0



2. o=

filo
ol

S R CER Y,

a o 4H]O1A 5 & M S g 0] 3 Hloh 2t

® a-20=3a @ 4a+5=3a ® 4a-5=3a

@ 4a-5=-3a ® 4a+5=-3a



& % o w1 o] gholl THANAE FA Aok A7

® 2(x-1)=x @ 2x-2=5x-2

x—3
@*_1_5 @ 3

® 3(x-1)=3x-3

=x-1



H7]

Ga=bOolHa+m=b+m

@a=bolHa-n=b-n
@a=0bolHap

4
q

O»,Oo O, 00,6 O, 60,



2x 4+ 4 = 10—-4x

@ 2x-4x=10+4

D 2x+4x=10-4

@ 2x+4x=-10-4

® 2x+4x=10+4

B 2x—4x=10—-4






e F S0 vehd 4 gl

rr

A7

flo

@® 200 L&A= 2970 1 70t 300 E#E] A" x 7l 9] 7HE o]
1800 o]t}

@ o] o7t x 1 Aol = 9] Zole 21 ol
@ x ©] 3 Hlli= 8 Bk At}

@ A% 30km 2 x A

)
offt
r [¢]
e
ri
)
o
rr
=
[\~
S
=
=}
o
L

® 20% 2 AFE xg of ol 9= A9 oF2 30¢ o]t}



@ —x+4=-x-4

© S5x+3=-Tx-2

@ -4x-2=-3(2x+3)

O 2(x+3)=2x+5

@ —x(x-2)=2x-x?

e
-




D x+3=1>x=-2
1

®§x=3=>x=6 @ 02x=04=2x=4

@ 3x=-12=x=-4

B 2x-2=8=2x =10



10.

g 2E

P

nEg o]t A

flo
M

52
ftlo

i)
i)
=

QD 4x-3=5=>4x=5+3
O x2=-x+4=>x+x=4+2
© 7T+2x=6-8x=>2x-8x=6+7

® -3x+5=2x-3=-3x-2x=-3-5

@ 9Ix+l=4x= 9x—4x=-1

YR
=¥




® b5x-7

@ x2-4x=x>+3x-1
® 3x-2=3(x+5)

@ 2x—4=2(x-2)

® 3(x-2)+x+1=2(2x+3)






® 6<9



DO -2x+3=4+2x
® x-3=2x+5

1
® 05x-1= 5x—2

@ 2x-4=2(x-2)

@ 3x-1=2x+2



0 5 A 320 - 1) = x + 12 9] 7 T2 A4
H?

® 3(x-1)=2x-1
@ 12x-6=2x+4

® 2(x+1)=5x-7

E fe} =

filo
[N}
=

@ -4x+2=3(x-1)+5

@ 4x-2(x-2)=10

R

I



3x+T7=-5x-1

3x+5x=-1-[ |
[ k=[]
ax= ]
Bl
Ztoll o1z 5 A Y= & 229
@ 7,2,-8,-4 @ 7,8,-8,1 ® 7,8,-8,-1

@ -7.8-8, -1 ® -7.8,-8.1



® 4 B 8 @ 9 3 16

D 1



18. =T A g2 A

fijo
rl

afat,

@Da=bOlHa+5=b+5
©a=bolHa-10=10-b
© a=0b°|H —4a=-4b

@ a=2b O 2a = 4b

@ 3a:3bo]tﬂa:

YR
=%



(x+6) = 3(3x + 2) 9] S & oot



4x-3(2x—1)=5%5 EH?

@ x=-1 ® x=4

D x=1

® x=3

@ x=-4



